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(A) 4z (B) -l (C) 11210 ) ERIEN
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(82) ‘dotdlHi sisu slar 3[RudloAL 242 3 a1y ?

(A) s2ll o A1 « uzdl (B) 524l A, f5ul-
(C) Me™ld ldl (D) a%s [l €ld
(83) Al s A0l 9 ?
(A) sel+ G = sdl[¥ (B) 4 + &l = idlel
(C) i, + VMBI = =AMl (D) Alg + HLE6IR = ARUIGR

(84) (ARl GRAd ULl A AUl Sl dd dAlsy 53 69 7
(A) 281 58] & Ul su124 viiclaL Al
(B) HU'RLY, il HIe ¢ A9 ?
(C) 61t % draaiiet (7) A4 Asdl el ?
(D) “olle Al 6l AU

(85) vilZl waell sul aoe-l 9 ?

(A) sMaA-R (B) BiaL (C) sl (D)
(86) Find the different word from following words.

(A) retrieve (B) rescue (C) salvage (D) evade
(87) Neither you nor your friend was sick ................... ?

(Put a suitable question tag choosing from the given options below.)

(A) Wasn’the ? (B) Was he ? (C) Weren’tthey ? (D) Were they ?
(88) If Mr. Shah had saved money earlier, he .................. anew car.

(A) bought (B) have had bought

(C) will have bought (D) would have bought

(89) Shruti said to Neha, “You are my best friend now.” - find correct indirect speech.
(A) Shruti told Neha the she was her best friend then.
(B) Shruti told Neha that she was her best friend now.
(C) Shruti told Neha that she was her best friend then.
(D) Shruti said Neha that she is her best friend then.

(90) The lightning has a tongue of flame. Identify the figure of speech used in the sentence.

(A) Irony (B) Personification
(C) Metaphor (D) Simile
(91) Dr. Harris welcomed the members of the committee and wenton................ the subject of the meeting.
Put Proper verb form.
(A) introduced (B) introducing
(C) introduces (D) to introduce
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(92) Find out similar word for : Assault
(A) Defence (B) Beating (C) Shooting (D) Attack

(93) Select the correct sentence.
(A) Unless you worked hard, you will fail.
(B) Unless you don’t work hard, you will fail.
(C) Unless you work hard, you will fail.
(D) Unless you will work hard, you will fail.

(94) Intelligent.................... he is, he could not pass that exam.
(A) though (B) however (C) yet (D) as

(95) Parth filled ten litres of petrol to go to Ahmedabad. Select the most appropriate option to get the

underlined word as answer.

(A) How much petrol Parth filled to go to Ahmedabad ?
(B) How much petrol did Parth filled to go to Ahmedabad ?
(C) How much petrol did Parth fill to go to Ahmedabad ?
(D) How much petrol Parth fill to go to Ahmedabad ?

(96) Let her kill the mouse. Select the correct passive sentence.
(A) The mouse was killed by her.
(B) Let the mouse be killed by her.
(C) Let the mouse is killed by her.
(D) Let her kill the mouse.

(97) No sooner did I reach the college ..............c......... .
(Select correct option to complete the sentence)
(A) when it started to rain. (B) and it started to rain.
(C) than it started to rain. (D) after it started to rain.

(98) Neither of your friend will come. Identify the Pronoun.

(A) Distributive (B) Demonstrative

(C) Indefinite (D) Reciprocal
(99) Many times he helps those......................... he doesn’t know.

(A)who (B) which (C) what (D) whom
(100) If you ......eeevvennnnnee. the rumour, you ...........cccceue.. .

(A) had spread, would have been arrested.
(B) had spread, would have arrested

(C) had spreaded, would have been arrested
(D) had spreaded, could have arrested
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(101)

(102)

(103)

(104)

(105)

(106)

(107)

(108)

(109)

(110)

(111)

(112)

(113)

seror; foe =9 werH foh g R ?

(A)WYg (B) &t (C) 5F (D) wfa:
TGN o g1 Had ?

(A) BT (B) I

(C) Trafres: (D) I

TR v TR AIS TIfeTeh el Too[q STETad |

(A) 3T (B) a7 (C) &1f (D) ST
STV TR UL Hise: ?

(A) g5 (B) faama: (C) feem: (D) <&
L= s KT 3T |

(A) L (B) 37T (C) a1: (D) gHfa:
ik oRe: T STgd Tt i | vl alsy el eld f.

(A) =g (B) = (C) ==r: (D) ©i@h
T & It ?

(A) g&m: (B) ferer: (C) T (D) e
S1=e T hofel wafa 2

(A) & (B) & (C) ST (D) T
AT lesHL 2Ll iSRS A1 9 69 ?

(A) Beus - dAlRAgTl (B) A28l - A~

(C) ¥ddlsn - Hauddl (D) Hlafast - 2B [Ho1

W15 UL LA O HOULBL 514 Scll ALl A sUL A UA[Ad 9 ?

(A) foreais=m= (B) <&elid =

(C) STeAfergfard =i (D) YU =M

ferciiel ARISTMT adiare 99 | 2AL Ulsd 54l Ad 1R, GelewL 69,

(A) ST (B) ¥4

(C) aferanfer (D) 3UeT

AR N GieTerd 7 Seqdfd ?

(A) FAH (B) BRI,

(C) ardi=mH, (D) |fam,

21212 YARNHI Alell 9t UG YAl 54,69 ?

(A) 2llHg eudtad Yuel (B) $4 Y181

(C) MRy Y18l (D) (et yrul
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(114)

(115)

(116)

(117)

(118)

(119)

(120)

(121)

(122)

(123)

(124)

(125)

(126)

& @ ..o, |

(A) F&Hq, (B) &7, (€)3d (D) gEgE:

e 2ot [l 21oe osauldl.

(A) THRH (B) A=qtq

(C) fra (D) 137

e M ?

(A) s (B)yd (C) [la (D) &8l

YT ATOM: [ a4 96 < Ud add 2

(A) T (B) SRITEHA

(C) AfehrTy (D) FITY,

THH higyl waIfd ?

(A) ST (B) AR

(C) W (D) TR

Shigeft Toreed ?

(A) TnHrfereht (B) IThi

(C) 7z (D) 3reaHifereht

T Wfte e wvreh Faamiage | 21 dlsd 5181 6ld .

(A) Rt (B) ga==: (C) s (D) ¥Ret:

LERIRINSIKEIRIRER R Rk

(A) TAETHA (B) GeEe@RH

(C) ALTEHHRY (D) THHAEY

[ oMl UL (ANl AHLALL S 2L 6.

(A) PUAIR, AHASIR i UL [ (B) AR e WA (2

(C) URAUR i Ui [Zd (D) W [Zd i Qe

‘T’ UeE TR F 2

(A) 3R B ERE (C) afe: (D) IR

UAH dg dls sl vl 21 ¢ ?

(A) UL (B) Hel™IRd (C) $HRAUMY (D) ¥4l

.............. TI; YRl HEL Hald |

(A) 39T (B) T, (C) A<= (D) =

yuLel seal e ?

(A)2 (B)4 ©)5 (D)3
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(127) ‘‘emoo:"’ T varees: & ?
(A) forafor; (B) 1 (C) Fts: (D) if~er:
(128) aidlast e oLl - 6ieL @vil,
(A)%,, %, ™, 4, d, 0l (B)d, ¥, 1, ¥, &, d, 0l
(C)H, ™, %, ™A, d,d, 2l (D) d, ™, %, %, 2l
(129) % s1d ULl AuIR A2l d 1l wgt g Aot Al - 241 52l A1 A1 d €9 ?
(A) ST = (B) 3T =T
(C) STeH~<H = (D) AR - AR
(130) gHRActay -l 2 5181 53 7
(A) Macifa (B) M1 (C) HH (D) sUl@sl
(131) I oo, A
(A) Tere &4 (B) w&e Ara
(C) HaIea ot (D) 9= g@
(132) ST .............. R
(A) forsmgey (B) foram,
(C) T HEE™ (D) A=
(133) ‘ST’ s & a1els ?
(A) fora (B) wafd
(C) 3= (D) IRIEfd
(134) 54 -lles uule eMatd Al
(A) frerefemm (B) A=y
(OkSIES (D) ¥afaq
(135) sll@slu-l $@ -ll2sl edl ?
INEL (B)& (C) ¥is (D)4l
(136) <llldalds, d2ou2lds i gouRds-l ARAL SIRLE.
(A) MdelR (B) &1 (C) MR[a (D) HIRgl%
(137) WM @] qrUgd: TS sherdieh: hae: | AL AR 5416 ?
(A) GUHL SR (B) Ball A s1R
(C) 3us 512 (D) Alaallst e sz
(138) HeLGURd L 52115 UR AR 595 3us (5[a) el ?
(A) ddlsd (B) YUl
(C) ulani-Les (D) HEHAHUIDL
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(139) T A ..............

(A) o (B) STeH, (Oheh
(140) ov= =fa Tegonta ?

(A) 7= By (C) Fooft
(141) T wea S@r ?

(A) v (B) 7 (C) qr=mR:
(142) 9 voc& gt 1R 2

(A) &0 (B) T (C) gesit
(143) & Hferar yr: ga fawed ?

(A) AFE (B) <o (C) fermain:
(144) ¥ T Tooiold =l fagueed g@ Jurafd ?

(A) T<TH (B) THICTH

(C) Tuuers (D) FTHEH
(145) rdfarg: & odd ?

(A) 9T (B) @ (C) Tst:
(146) AT TR s 98 AU €9 7

(A) 3T3ET (B) Az (C) wfert
(147) UIR 25l 215 dld ARAR $S8ALHL 241 AU UL ALY QUAYL 9 ?

(A) Trelg==m (B) ==

(C) gfaerere=ma (D) fasusor=m
(148) T wfgy sigen aef< - Glsd sutde-dl e ?

(A) u%ds (B) AMAE

(C) »udde (D) 284g
(149) TYZTI UTHTOT T T&T AT 2

(A) T (B) &i:

(OELES! (D) wferen
(150) gofa: = a1f ?

(A) =T (B) 5= ©)
(151) STAeIo & g ?

(A) =R (B) =R

(C) =R (D) 3U=ER
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(D) 38:

(D) 7

(D) feafest

(D) Tt:

(D) 7w
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(152) Fendyeh™T: T TEraal o A ?

(A) ef TR (B) &t s

(C) H&f et (D) T T Ae
(153) AlclslAs 0512041 Alel UAH TS 2Ll sUL ARSI O ?

(A) 2[R 20513 (B) 2Lt A512

(C) GUAYU~t ASI1R (D) [Aclle A512
(154) ‘GIAUSAAS’ AUH ULOVLAL HIAAL S2EL 12519 ?

(A)&9 (B) Ala (C) AR (D) dr
(155) o ST STHH 0 Jorel 3T ?

(A) TH (B) ™ (C) fom (D) v/@
(156) <t ey o =it ?

(A) T B)TTT

(C)zzz (D)3<<
(157) A4 A Aldsdlel ol 2iug, Al [AR12s1d 535 © ?

(A) H8IHIRd (B) §HI™4

(C) 148 (D) ¥4l
(158) FaFM A& .o Ieg 1 faerd ?

(A) a7 (B) BIt: (€)= (D) TaH
(159) o ArEm= fa<q ?

(A) THa: (B) W (C) 3Ty (D) 37
(160) a2l ad-iz yu-l oaz ofl ald A o ?

(A) Gla A . (B) yut - Ayle Haa 9.

(C) il GUR [A%u Had . (D) 4O AUl AL AR €9
(161) 3THT: THEd: SHigu: df= ?

(A) T (B) 3TeT=: (C) 3 (D) o
(162) oyfauolloiil AHd 5l Ad vz a9 ?

(A) gedlMi (B) L3141

(C) sl wie, ot 24 (D) 4 - dHdHL
(163) Gla{l uil (1) $UL @R, YA 5369 7

(A)aRd (B) gl

(C) Gelx (D) ysilazx
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(164)

(165)

(166)

(167)

(168)

(169)

(170)

(171)

(172)

(173)

(174)

(175)

HFRTaTSE MLsLdHl sebedl A2 69 ?

(A) 17 (B)9

e fom =1 =nfa 2
(A)

e for T stf 2
(A) ThY

(B) #i:

(B) ™:

TR Wres A= foh gfed wafd ?
(A) 9 gHo
(C) o s

“gogeicRn’ 3usHl ARAL 1R ?
(A) Hel s[a s

(C) 1l s(a ousy

&l & |9 ?
(A) fafrere
(C) fasha=a

21 ded sUL del GUde HiAAML 2L © ?

(A) 8%
(C)ulHde
AT H 9afd ?
(A) I

F fgot s=a ?
(A) T

(C) Forafgar:
3T UFA: oo I JRIA |
(A) @S

(C) af:

T fop asiieRitg ?

(A) T9eH

(C) @ug Tue =

(B)

A5 2SI Y U vl s3A AL HA S ?

(A) A2
(C) 24
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(C) 18 (D) 20

(C) T, (D) TR:
(C) =R (D) @

(B) 9 TR
(D) &7 THTY

(B) 4sl s[a yas
(D) HslL sfa€dl

(B) T
(D) TR

(B) uyds
(D) »addse

(C) At

(D)

(B) steftafomn:
(D) g4:

(B) 3o
(D) 5a:

(B) W&,
(D) I

(B) [Agus
(D)2l
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(176)

(177)

(178)

(179)

(180)

(181)

(182)

(183)

(184)

(185)

(186)

afterori fop e &g orclal 2

(A) ey (B) 3TT&fRy

(C) Afetftafivy (D) IeZ&fiT,

“u15 o cALsUHL o1y o HIR(L A Bl sUL A UALANY 9 ?

(A) gt Srden = (B) A1 =1

(C) gfd shelg = (D) I AR a1 =1
£9% QURAUL & AR 52l €9 ?

(A) 10 (e21) (B) 8 (2116)

(C) 11 (>ABR) (D) 12 (aR)

“Uau o1l AL suLURd 5317

(A) ALRIYEL M2 (B) (vl uldd

(C) M5 1AL (D) Ui

“alapsel” vl (1Al suL deni Gedv-ly 9 ?

(A) »udds (B) »lyde

(C) Bodg (D) AHAe

A [asl aaulds AwwdL 4. .. ...

(A) [ drg, uz ysl ueya (B) 25 sl daue(l s
(C) s Al daua(l sl (D) GUR~i o1

AcdHirt 31ui g el uglan Ruue ot-iladl sy AaBs Guse Head © 7
(A) 24 2518 (B) e

(SEIRS] (D) 5¥y2R

At Reami Retqt sl [Qenal>iul g wu siél asia ?

(A) [Qeu{[-AL st (B) [Qgute{lfid]l vl
(C) [aan2ll>i-] alsaild, (D) [aenlA-L (a5
GuaRIAS stH [Qane{il il GuaAIR sl 219 9.

(A)u1 (B) il

(C) viald: A2 (D) 218l il

a®s AlatlAl USIR 5UL D ?

(A) 894 (B) 2l

(C) 24 - Al (D) GUR-lL 9

55 Ul vy AalBLs GUsAAL AHAH] Ll ?

(A) 19 Hluel (B) 1873

(C) 1878 (D) 1948
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(187) Al GUMHL BRI Sl 5101 sUL €L U5 ?
(A) GUR €M gelat
(B) cllue Ul Gual
(C) arRALA WERS [ Hirasala
(D) GUR-lL 218,

(188) sl [Rais+l ARiML suL il AHIALL Ul well ?
(A) g HIMLUR dIRa
(B) a24i uls aixfl HIMidR 539
(C) [AsuagrL stist Hi2 iyel duizl
(D) Y 2 2 G210 A1 2[5

(189) Agcl (et dreliedl vt HuasusdLe, siReLs. ... ..
(A) A5 ML 24 AL 5l el Ul gleniell
(B) 5245 (218151 A5l eUMLg sl 24 Uoged 4R1ddl A2l dll
(C) s el [alan uglaail i uylsai-l sl e

(D) GUR~L oL

(190) 6@y, (e oteilaal (A1l 5L Yel2il HeTarl 9 ?
(A) ML AL ML Sl (B) [Anuarg L Helil
(C) U2ll-L U51RL (D) GUR-LL 1Y,

(191) 9 U8l Geleellnl xeuiA2l [Qendl>1l % Rigid dird dq 58 ugld ssau e ?
(A) xe6ell8 ugla (B) [FotH ugla
(C) 211214+ ugld (D) Ucud Ugla

(192) [Rowme uglasdl 240 2is Hulel 9.
(A) dSoig [A1Re1AL 2] diReidl Hada oin 9.
(B) AHU BRI A351U 69,
(C) ol sl (IR otefl onu 9.
(D) A32UdHL R 2l gatell [Qeielzidl Gysdledl »id il .

(193) Asclell g GRuU HLE {lAAL 5100 &1 5.
(A) aell vl olieat (B) 2125] 12414 olidd
(C)2lldl €ld dH ollag, (D) GUR-LL QU

(194) YdAvivieds.. ...
(A) olas aifl [Qudld quid 5.
(B) 611015 (A1l A9 Avie 53
(C) ouons Hlefl ellad Aimoll Avid s
(D) ol Heel {ld Auid 52.
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(195) *i-ls alael s19 [Qenl-l G2u1R ey 2 dl
(A) HrlRBRsH aRaR adl.
(B) Ax1sAl-{l Hee adl
(C) Auirtsid-l Add H8laR) s21adl.
(D) 2uydles viulaild Aa 1199

(196) 1ol ugld 212a 3
(A) sl A0LAHD AU 51 d Ugld
(B) aoeL-l 21 ol 5214 d ugld
(C) A0 98I d Uugld

(D) Azl o219 d ugld
(197) &l Yl 2 UL AR 200U 69
(A) 120llg ugld (B) ula ugld
(C) 21214 ugld (D) wusld ugld
(198) a3 Ridalld [Quizella uEuL . 21l Sid, 5269,
(A) G2 (B) 36l
(ORI (D) et 3155

(199) gaaldriel Yo, 6 Beal sUL €9,
(A) QUOLGINLA 2Ae gDl
(B) A28 A4 224U
(C) whrie 2 Geall
(D) A0 S Al AU

(200) A5l AL Yuo & [AeU00L sULEY ?
(A) AUBLS ALBL 2t I AL[E
(B) ulare AUldc 24 [afre alec
(C) ALsA i 4+
(D) Ales Alecd 214 e Ale
L X X 2
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